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tels AEXEI A (REZASTEDS) (&2l &)
SA-EH A (SA) - NRAE - BES Off ok 24 I E N HusSz
224 20,778 21,398 2620
CS 6,940 0 6,940
z 13,838 21,398 27,560
FszMaSHEI= 9,440 10,060 2620
=S 6,940 0 6,940
z 2,500 10,060 27,560
ABHSI=22(EEZHNSHEIIS) 9,440 10,060 A 620
=S 6,940 0 6,940
z 2,500 10,060 27,560
SA2MEAMY FE(SHI) 6,940 7,560 2620
CS 6,940 0 6,940
= 0 7,560 AT,560
206 M = 4l 500 1,000 A500
& 500 0 500
o 0 1,000 21,000
01 M= 8l 500 1,000 A500
O RS4E A SH+=AHY
10,0008 * 502 = 500 1,000 A500
< 500 0 500
z 0 1,000 21,000
301 et2a = 6,440 6,560 A120
& 6,440 0 6,440
z 0 6,560 6,560
NJEEd= 6,440 6,560 120
O 2HIRASAMAAE 2SHI
40,0003 = 78 = 20 5,600 5,600 0
=S 5,600 0 5,600
z 0 5,600 25,600
O SAZsid 2ULEHRS &t
40,0008 =213l 840 960 A120
=S 840 0 840
z 0 960 2960
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